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What is AEgIS?

* Attached to CERN's
Antiproton Decelerator (AD)

* Looking for gravity's effect on
antimatter

* Baryon asymmetry

* Currently concerned with
antimatter creation




My Project

shimmy(group, startframe, endframe, amount, speed):
1 11 ensureorder(group
offset = random.randint(1, 5
0X, 0y, 0z = bpy.data.objects{1].location
currentframe = (startframe + offset
bpy.ops.object.select all{action="'DESELECT'
bpy.data.objects[1].select set(True)

currentframe <= endframe
bpy.data.objects(1i].location = (ox, oy, 0z

bpy.ops.anim.keyframe insert by name(type="Location"

bpy.context.scene.frame set(currentframe + speed
bpy.data.objects[i].location = (ox - amount, oy, o0z

bpy.ops.anim.keyframe insert by name(type="Location"

bpy.context.scene.frame set(currentframe + 2*speed
bpy.data.objects(i].location = (ox, oy, 02)
bpy.context.scene.frame set(currentframe + 3*speed

bpy.data.objects[1i].location = (ox + amount, oy, 0z)
bpy.ops.anim.keyframe insert by name(type="Location"

currentframe = currentframe + 4*speed

Create videos to explain
AEgIS

Will be displayed in the AD
for visitors

Join physics and mechanics

Focusing on antimatter
creation

Used Blender, mostly code
Twelve videos






Left to Do

* Fix all bugs/mistakes
* Lighting and colors

* Label or voiceover
 Fall experiment video
* Stitch videos together








































View

BSDF"].inputs[21] .keyframe_insert

Text Edit Sel Format Templates  f§v Text 9=
bpy.data.materials[k.name] .node_tree.nodes|"Principled
fault value", frame=end

decay(objekt, framestart, frameend, distance, needsmat = 'yes', needsobj =
ECT'

bpy.ops.object .select_all(action="DESEL
bpy.data.objects[objekt] .select _set(Tru
bpy. context.scene. frame_set (framestart
needsobj == 'yes'
makephotons (objekt
needsmat 'y
objects = ensureorder (objekt

gammas '

i cts
addmatuniqueOB] (1, 'yell
reversefade i, framestart, framestart

needsmat
addmatunxqueﬂBJ objekt, 'purpl
fadeabject (objekt, framestart, framestart
! gamm; distance, framestart, frameend

movephotons (objekt
randomdecay (Listostuff, percent, startexplode, endexplode, length, distance

percent / 1

ensureorder (Listostuff

tobemurdered = random.sample(stuff, round(p * len(stuff

i in tobemurdered

start = random. randint (startexplode, endexplode

decay(i, start, start + length, distance

shimmy(group, startframe, endframe, amount, speed
i in ensureorder(group
offset = random.randint (1
ox, oy, 0z = bpy.data.objects(i].location
currentframe = (startframe + offset
bpy.ops.object..select all(action='DESELECT
bpy.data.objects[i].select_set(T
currentframe <= endframe
bpy.data.objects[i].location = (ox, oy
bpy.ops.anim. keyframe_insert_by name (ype—'
bpy. context . scene. frame_set (currentframe
bpy.data.objects[i].location = (ox
bpy.ops.anim. keyframe_insert_by name(type
bpy.context.scene. frame_set (currentframe + 2*speed
bpy.data.objects[i].location = (ox, oy, o:
bpy. context.scene. frame_set(currentframe + 3*speed
bpy.data.objects[i].location = (ox + amount, oy, 0z
bpy.ops.anim.keyframe insert by name(type="Location"
currentframe = currentframe + 4+speed

shimmy ('antiprotons

Takeaways

 Learned Blender and
bpy code!

* Know AEgIS well
* Visualizations

* What to include
* What to ignore

* How to portray the
invisible
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